

			Vendor I	Ranking			Page 1 of 1
Letting:	05190205	February 05, 2019 2:00 PM	Call Order	: 003	Contract:	E5U69	
District:	District 5		Counties:	BREVARD, ORANGE	Fed Aid No	: N/A	
Contract Time:	150 CALEN	DAR DAYS			Project(s):	42783617204	
Contract Desc:	Popairing M	on Payed Shoulders-Routine M	laintonanco				

Contract Desc: Repairing Non Paved Shoulders-Routine Maintenance

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FAITH CONSTRUCTION GROUP, INC.	Responsive	Winning bid	\$205,094.50	100.00%
2	SERUR DEVELOPMENT, LLC	Responsive	Non-Winning Bid	\$228,042.70	111.19%
3	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$299,115.22	145.84%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$303,566.50	148.01%
5	VALENCIA CONSTRUCTION GROUP	Responsive	Non-Winning Bid	\$362,362.00	176.68%
	OCEANEER CONSULTING, LLC	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



02/26/2019

Tabulation of Bids Page 1 of 5 05190205 E5U69 Letting: Contract: February 05, 2019 Call Order: 003 District: District 5 Fed Aid No: fedprojects Counties: **BREVARD, ORANGE** Contract Time: 150 CALENDAR DAYS Project(s): 42783617204 Contract Descr: Repairing Non Paved Shoulders-Routine Maintenance FDOT District 5 Proposal No. : E5U69 Financial Project No. : 427836-1-72-04 Fiscal Year: 2019 Counties : Brevard, Orange Contract Calendar Days: 150 Lead Time : 14 Days This is a Maintenance Pay Item Contract. The work under this Contract consists of reworking non-paved shoulders, slopes, and medians; includes adding suitable materials, sodding, and grading for positive drainage. This project is reserved for Business Development Initiative Bidding. a. Bidders must be a Small Business as defined by the USDOT, (49 CFR Part 26.65). Pregualification per Rule 14-22 is not required. b. Bidders must complete and submit the BDI Affidavit and Profile (Form No.275-000-01) for approval prior to receipt of bid documents. c. Bid Bonds of \$500 are required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Performance Bond (Form No.375-020-16), or the standard Bid or Proposal Bond form (Form No. 375-020-09). d. Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid. e. A Performance Bond is not required for contracts under \$250,000.00. f. Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. (1) FAITH CONSTRUCTION (2) SERUR DEVELOPMENT, Line No / Item ID Alternate (3) MAER HOMES, LLC Quantity GROUP. INC. LLC Item Description Units () indicates item is bid as Lump Sum **Unit Price Ext Amount Unit Price Ext Amount** Unit Price **Ext Amount** SECTION: 0001 **REWORK NONPAVE SHOULDER (AC)** (1.000)12,000.00000 12,000.00 0005 5,000.00000 5,000.00 30,896.72000 30,896.72 0101 1

MOBILIZATION	LS						
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	10,000.00000	10,000.00	10,000.00000	10,000.00	15,000.00000	15,000.00



Tabulation of Bids

Page 2 of 5

Letting:	05190205	February 05, 2	019 Ca l	l Order: 003		Contract:	E5U69	
Line No / It Item Descr		te Quantity Units	(1) FAITH CON GROUF		(2) SERUR DE LL		(3) MAER H	IOMES, LLC
() indicates	item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	REWORK NON	IPAVE SHOULDE	R (AC)				
0015 0104 SEDIMENT BA		16,704.000 LF	0.10000	1,670.40	2.50000	41,760.00	3.00000	50,112.00
0020 0120 BORROW EXO MEASURE	2 2 CAVATION, TRUCK	2,373.000 CY	11.00000	26,103.00	16.00000	37,968.00	22.00000	52,206.00
	4 9 G CONCRETE BLOO SYSTEM, THICKNES		30.00000	4,350.00	200.00000	29,000.00	180.00000	26,100.00
0030 0570 PERFORMAN	1 2 CE TURF, SOD	16,319.000 SY	5.00000	81,595.00	3.80000	62,012.20	3.50000	57,116.50
0035 E577 SHOULDER R		16,921.000 SY	4.10000	69,376.10	2.50000	42,302.50	4.00000	67,684.00
0001 RI	EWORK NONPAVE SHOULDER (AC)	Section Totals:	1	\$205,094.50		\$228,042.70		\$299,115.22
	Contract (Grand Totals:		\$205,094.50		\$228,042.70		299,115.22



02/26/2019

Tabulation of Bids

Page 3 of 5

Letting:	05190205	February 05, 20	019 Ca l	I Order: 003		Contract:	E5U69	
Line No / Item Dese		nate Quantity Units	(4) MIDWI CONSTRUC		(5) VAL CONSTRUCT			
() indicates	s item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	REWORK NON	PAVE SHOULDEF	R (AC)				
0005 010 MOBILIZATIO		(1.000) LS	40,000.00000	40,000.00	46,434.00000	46,434.00		
0010 010 MAINTENAN	2 1 ICE OF TRAFFIC	(1.000) DA (LS)	30,000.00000	30,000.00	36,000.00000	36,000.00		
0015 010 SEDIMENT E	4 10 3 BARRIER	16,704.000 LF	1.50000	25,056.00	4.00000	66,816.00		
	2 2 XCAVATION, TRUCI	2,373.000 K CY	20.00000	47,460.00	24.00000	56,952.00		
ARTICULATI	0 4 9 ING CONCRETE BLO T SYSTEM, THICKN		250.00000	36,250.00	210.00000	30,450.00		
	'0 1 2 NCE TURF, SOD	16,319.000 SY	3.50000	57,116.50	4.80000	78,331.20		
0035 E57 SHOULDER	77 70 REWORK	16,921.000 SY	4.00000	67,684.00	2.80000	47,378.80		
0001 I	REWORK NONPAVI SHOULDER (AC			\$303,566.50		\$362,362.00		



Tabulation of Bids

Page 4 of 5

Letting:	05190205	February 05, 2	019 C	all Order: 003		Contract:	E5U69	
Line No / Item Item Descript		te Quantity Units	• •	VESTERN JCTION, INC	• •	LENCIA TION GROUP		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$303,566.50		\$362,362.00		



Tabulation of Bid	s
-------------------	---

Page 5 of 5

Letting:	05190205	February 05, 2019	Call Order: 003	Contract:	E5U69

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.